(2) PEOMRR

THAEZLPTROBEIT, B1ROLBY, —Ka

B, S TR62EN ., =53

A=

K1 EM O GHRTEEMOER 4.4%8) Lo ->TWET,
2K E LI D =25t 2 S bR U TEBREOHER L, F 1R LEZEBY TF,

FHCHIS, 194, HFAIISEHTHIB, 329
EHE D EKIRL, 148 M L 72> TE Y | BIFE & T

F1R SHIFEELNTEHAOIKRTE (SFIRRER) (BAL - T, %)
RN A FERE 4 FN 3 AERE ke 1%
X 4 ELIb X ELIbg x| B R
(A) (B) (1) -(B) (A) — (B) ./ (B)
— & = 3 819, 429, 371 788, 197, 215 31, 232, 156 4.0
OB & 32 332, 892, 980 314, 590, 179 18, 302, 801 5.8
© ¥ = 3 62, 466, 294 60,912, 448 1, 553, 846 2.6
(==& AFt 1,214, 788, 645 1, 163, 699, 842 51, 088, 803 4.4
F1R LU FEREDOHTR
dEr 8,958 8, 865 88 9, 437
14, 000 , , 9, 187 9,4 s 10,918 11, 258 11, 184 11, 637 12, 148
625
12,000 296 106 56 609
10,000 49; 432 399 419 384 3 399
703 3,554 | | 3617 5 451] | 3,146 ’
8, 000 B 1,818 1,532 1,483 ’ 2,024
6,000
4,000 e ool {6001 | |7.306| | 7366 [ 7,020 | 6,068 | | 7,236 | [ 7407 [7-882] | 194
2,000
0
H25 H26 H27 H28 H29 H30 RIC R2 R3 R4
()
o:—fxeqt o RI2E RS it

(1F) FR2T4EE, BFUCEE LY TRITEEOTEOD, 6 AMERS—ATHELTHY £7,

BIINETADT-DBFHIADRWEERH Y £7,

_40_




